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• For any integer n > 0 and real |r| < 1
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discrete uniform p(y) = 1
n

n+1
2

n2−1
12

∑n
x=1

esx

n
y = 1, 2, . . . , n

binomial p(y) =
(
n
y

)
py(1− p)n−y np np(1− p) [pes + (1− p)]n

y = 0, 1, 2, . . . , n

geometric p(y) = p(1− p)y−1 1
p

(1−p)
p2

pes

1−(1−p)es

y = 1, 2, . . .

hypergeometric p(y) =
(ry)(

N−r
n−y)

(Nn)
nr
N n

(
r
N

) (
N−r
N

) (
N−n
N−1

)
y = 0, 1, . . . , n if n ≤ r,
y = 0, 1, . . . , r if n > r

Poisson p(y) = λye−λ

y! λ λ exp [λ(es − 1)]

y = 0, 1, 2, . . .

negative binomial p(y) =
(
y−1
r−1

)
pr(1− p)y−r r

p
r(1−p)
p2

[
pes

1−(1−p)es

]r
y = r, r + 1, . . .

Distribution f(y) E(Y ) Var(Y ) M(s)
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